(1) IWA KO OB (FR314£3 A 31 H HAE)

1. PRS0 E — 5t T E ORI (HA7: 1)
fii 1IE @ R W
W T EAA ~ ~ - ~ - A& R
5 6 HiES IHES 12H#ES SHES 3/29 7k AT
8,249,000 38,000 464,000 271,000  A341,000 25,000 8,706,000
2. VRSO R RIS FH T HE ORI SO 295 FE K0T By A E R S R HI K E FESFHIR S (HA7: 1)
. fio1E o Ak W
= i W EAA ~ ~ - — A& e
= g 5 6 H s IHHS 12H &S 3HES S
[E] Rt FE R bR s 1 2= B 1,770,000 18,116 2,700 32,000 1,822,816
N AGE FERRI S E 786,000 2,800 1,800 790,600
MU AR 5 HE K S A R A 90,500 30 90,530
SRR R 2 1,914,000 734 24,100 4,600 1,943,434
“ I S =R R R 5 183,800 5,200 189,000




3. WHRBOHFE — i &FH PROPUTIRIL (103 ~3H 73) X T HIUER (A) 12

I kR T 45 104,580,000 & 2 T e,

%A (BN 1)
K 4R THRBTER (A) FHERE (B) INAWE#E(C) BUTERB/A) | IAZE(C/B)
1 HTHL 1,311,169,000 1,390,420,907 1,304,663,292 106.04% 93.83%
2 Hi 7R 81,617,000 81,617,000 81,617,000 100.00% 100.00%
3 Rl B2z A4 2,185,000 2,185,000 2,185,000 100.00% 100.00%
4 Bl S BIAAT 4 2,635,000 2,635,000 2,635,000 100.00% 100.00%
5 BRASEREIE IR E 221 4 2,351,000 2,351,000 2,351,000 100.00% 100.00%
6 Hi 5 VH B LA 245,298,000 245,298,000 245,298,000 100.00% 100.00%
7 HEY ISR 4 22,997,000 22,997,000 22,997,000 100.00% 100.00%
8 it 7 R A3 A 4 3,741,000 3,741,000 3,741,000 100.00% 100.00%
9 Hi A 3,253,026,000 3,253,525,000 3,253,525,000 100.02% 100.00%
10 223822 R RRERI 221+ 4 1,721,000 1,721,000 1,721,000 100.00% 100.00%
SyTRA K OV 4 3,844,000 4,535,647 4,190,298 117.99% 92.39%
12 {58 FE K OV 250kt 47,131,000 51,215,251 48,560,081 108.67% 94.82%
13 [ElE S H 4 583,338,000 395,474,089 360,726,502 67.80% 91.21%
14 B4 692,923,000 533,969,072 478,284,305 77.06% 89.57%
15 FAPE A 14,566,000 14,540,438 14,525,439 99.82% 99.90%
16 77 4: 235,400,000 239,229,304 238,831,864 101.63% 99.83%
17 # N4 514,724,000 515,548,148 515,303,148 100.16% 99.95%
18 #fullidx 500,568,000 500,568,118 500,568,118 100.00% 100.00%
19 FEILA 239,546,000 225,247,288 173,854,178 94.03% 77.18%
20 MT1E 1,051,800,000 0 0 0.00% 0.00%
At 8,810,580,000 7,486,818,262 7,255,577,225 84.98% 96.91%




ik tH (BN 1)
EoSE2Y 1) THEEER (A) I #E (B) BUTHRB/A)
1 sE=E 87,382,000 83,047,924 95.04%
2 MR 1,503,574,000 1,252,124,947 83.28%
3 RAE 1,935,560,000 1,773,329,497 91.62%
4t 405,794,000 310,704,103 76.57%
5 il 13,060,000 12,675,000 97.05%
6 AR E Y 815,555,000 698,906,743 85.70%
TR 590,775,000 471,072,662 79.74%
8 A% 1,309,373,000 894,089,154 68.28%
9 THRLE 372,145,000 350,029,326 94.06%
10 BEE 1,014,363,000 693,401,188 68.36%
12 NME# 740,250,000 607,656,456 82.09%
13 #E 3 4 17,620,000 10,141,954 57.56%
14 TAH#E 5,129,000 0 0.00%
At 8,810,580,000 7,157,178,954 81.23%
4. PRS0 E RIS TR OBITIRIL (10H ~3H 43) G2as))

= F 4 THRBUER (A) I AW %E (B) BUTEB/A) KRR (C) BATHRC/A)

[ BAd B R BR R I 23 5T 1,822,816,000 1,709,399,579 93.78% 1,777,154,241 97.49%

NHETAGE SR 5 790,600,000 620,168,620 78.44% 645,189,889 81.61%

HUSEE B PR S 2E R I 3 5T 90,530,000 96,730,729 106.85% 82,696,860 91.35%

IR R 225 1,942,634,000 1,908,285,947 98.23% 1,682,346,475 86.60%

% W i R I 3 E 175,800,000 177,151,848 100.77% 172,113,328 97.90%




(2) FEROAHEORE (FRL314-3A 31 H BITE)
ERES14E3 A 31 B BIME T A 113,853 A

1. BT (BLAE 53k A\ i E%8) 2. Kt T CERR 304 B g k& T L EH) 3. ZDfth
X 4y | BTR— AMYOH HEE (1) X Ay | BTR— NS00 RHEE (M) X Ay | TR— NSO BHEE (M)
T A 38,081 — 628,456 I (— ) 43,865
[ G PER 49,429 ESpE 131,583 MT & 7% (1) 588,237
128 [ ) L f 3,713 Tk 57,071 Farkm () 215,578
) 4,075 Hial A VK 6,535 INEER (B2 E) 89,715
N ) 948 St 140,290 MT & 7% (1) 1,070,739
BT E L 0 % ] =l 13,643 ) 233,171
it 96,246
Q) ANEFEORBEOMI (k3143 H 31 HEHE)
N (Hif7: ) S HY (Hif7: )
EE THBER | WA BT X 4 THBER | HEEE BUTH
VISTER: =S EA3ED) 430,018,000 428,142,840 99.56% B F LI 452,780,000 397,445,512 87.78%
KB FHEE A 219,000,000 217,186,000 99.17% B FSEE AN 374,000,000 406,395,267 108.66%
(4) P, ITELEO—FREALSOBER (F3143 A 31 HEHE)
1. N PE
N N W) (G F) m X 4 BT
L AR i —— A TE z LK (I ) 1,308,314
ARIT 9,580 3,569 3,569 LR (S UAR) mi 409,138
Z Dt VP % 7,720 2,744 73 2,817 ISR (1) 138,000
1TER%ES DO 18,269 29 3,670 3,699 TR #1432.82n1 (T-F) 5,000
TR 210,637 10,031 26,860 36,891 PR —= (M) 133,000
semppe  [REEE 18,815 563 1,028 1,591 Hzs (1) 10,488
>N/ )E /\ V) - U
N 346,474 26 26 B LDHER] (—fi%) T 102,842
Z DD SR 340,378 11,860 17,508 29,368 HHE LA (E k) TH 0
LAk 1,717,452 0
Z DA, 232,002 2,521 10,429 12,950
&t 2,901,327 27,774 63,137 90,911




2. Wit (205 ML EOZ) (HA7: )
EE — Gt ESEER o KE | AFETFKE ik

T Fas B 110 1
FH e A 58 4 1
fr e B[R A 73 2
Az R E 64 1
TR - 25 B 131 10 2 2
THBS AR - 126
Z DA, 14
3. &k

X 4 BifEm (FH)
i B e 4 1,553,572
4. FH4r
O— = atpTE A4 QR IR R4

R BifEm (1) X 4 BirEE (1)
MBS 1,266,551,632 eV T s Wk 1o B Vi Fa 93,357,927
A BT 5 AP it A < 222,340,434 e BT EAE R BRAa 1 4 150,358,852
Wt W] S < D HEHE R 4 25,000,000 WA BT 68 5 K i = 2 4 0
W T 27N — > 415 B 4 14,472,000 e 243.716.779
WA BT 22 S5 B A B 62,600,000
e Bl 7a4 117,795,000
e - Ht1 (5,870 1) 15,205,000 5. W1
W FT O it A B A 24 199,811,402 ES 4y HAES (1)
W T 205 U b4 22,500,000 — s 8.148,842.279
THERT 5D 4 74,440,000 AGEESE () 15 1,248,268,234
WA T A 4 293,749,812 5 5 ko 357,401,692
Wl T g kRS 4 15,761,000 A SCEE 2 4,627,508,005
WM BR BE AR 2 L4 69,553,293 Ml AR VR PR S AR 450,930,730
WEe AT Y e 5 A4 601,823,172 e 14,832.950,940

&t 3,001,602,745

6. —FHE A4

[BiEs 0 |




(5) FHRITCEE LM TR OBE

1. — =3
o A (HAZ: T, %)
et T A TR R T 5 e
THEA = A TR # & MR fip =

1 Hy Bi 1,271,532 15.2 1,241,169 14.8 30,363 2.4
2 # F FE 5 B 79,168 0.9 77,648 0.9 1,520 2.0
ST | B v b < 2,500 0.0 1,500 0.0 1,000 66.7
4 B Y O # R & 3,000 0.0 3,000 0.0 0 0.0
5 ARIGEEME TSR AT & 3,000 0.0 1,300 0.0 1,700 130.8
6 H 5 W E B LT e 220,000 2.6 220,000 2.6 0 0.0
7 B B ISR AR & 16,000 0.2 20,000 0.2 A 4,000 A 20.0
8 IR B MEAE EH &2 T & 6,000 0.1 0 0.0 6,000
9 H 5 R Bl R & 3,000 0.0 2,500 0.0 500 20.0
o K K fF B 3,008,515 35.9 2,974,183 35.5 34,332 1.2
11 A E KRR R B 4 1,700 0.0 1,800 0.0 A 100 A 5.6
12 & kA #HEE 4,020 0.0 3,921 0.0 99 2.5
13 H B & O F Kk 48,363 0.6 47,670 0.6 693 1.5
14 X W & 523,022 6.2 554,822 6.6 A 31,800 A 5.7
15 & 53 sl 4 664,154 7.9 698,582 8.3 A\ 34,428 A 4.9
16 P I A 15,834 0.2 15,135 0.2 699 4.6
17 % 75} 4 201,700 2.4 251,700 3.0 A 50,000 A 19.9
18 A 4> 647,869 7.7 826,706 9.9 A\ 178,837 A 21.6
19 f ik 4 60,000 0.7 60,000 0.7 0 0.0
20 & I A 171,323 2.0 186,664 2.2 A 15,341 A 8.2
21 HT & 1,431,300 17.1 1,060,700 12.7 370,600 34.9

w AN B F 8,382,000 100.0 8,249,000 100.0 133,000 1.6




o (HAZ: T, %)
oot B A TR AE AITAEEE T %8 P ek
THEA e THEAE = A MR fip =
1 &% = # 87,546 1.0 88,694 1.1 A 1,148 A 1.3
2 W # 1,705,605 20.3 1,254,173 15.0 451,432 36.0
3 K s # 1,914,293 22.8 1,975,456 23.6 A 61,163 A 3.1
4 fd A # 471,426 5.6 399,952 4.8 71,474 17.9
5 % @ # 13,067 0.2 13,060 0.2 7 0.1
6 = M K E ¥ & 720,186 8.6 739,969 8.8 A 19,783 A 2.7
7 78 T # 465,286 5.6 507,741 6.1 A\ 42,455 A 8.4
8 + A # 1,051,983 12.6 1,363,644 16.3 A 311,661 A 22.9
9 H %3] # 392,356 4.7 376,908 4.5 15,448 4.1
10 # B # 752,206 9.0 768,883 9.2 A 16,677 A 2.2
11 % %F #® 1 % 0 0.0 0 0.0 0
12 & # 780,500 9.3 733,500 8.8 47,000 6.4
13 % 53 i 4 17,546 0.2 17,020 0.2 526 3.1
14 ¥ i # 10,000 0.1 10,000 0.1 0 0.0
A 8,382,000 100.0 8,249,000 100.0 133,000 1.6




2. ¥ppl it

(BZ: M. %)

2

AR T 5

[ S e Or B 4 Bl = Rt

AN SR =

IS AE Y HE K SRR BI 2 R

Jr W OB R B = R

1% 11 1= in o 12 R A 0l = R

PRI
b AR f =
A 285,000 A 16.1
10,000 1.3
8,500 9.4
2,000 0.1
A 12,800 A 1.0

3. boKIE S (R 3€) =5t

(FZ: M. %)

LEA R
AR f =
A 11,711 A 2.6

A 80,699 A 21.6




